
Name:	
  
Teacher:	
  
Class:	
  
Date:	
  
Directions:	
  	
  Choose	
  two	
  animals	
  from	
  the	
  Animal	
  Cards;	
  then,	
  fill	
  in	
  the	
  blanks	
  with	
  the	
  correct	
  information	
  to	
  
show	
  how	
  the	
  two	
  animals	
  are	
  similar	
  to	
  each	
  other.	
  
	
  
___________________________________________________	
  and	
  __________________________________________	
  are	
  similar	
  in	
  a	
  few	
  

ways.	
  	
  Both	
  ________________________________________	
  &	
  __________________________________________	
  have	
  similar	
  

structural	
  adaptations.	
  	
  One	
  is	
  that	
  they	
  have	
  _________________________________________________	
  to	
  

_________________________________________________.	
  	
  Another	
  structural	
  adaptation	
  they	
  have	
  in	
  common	
  is	
  

__________________________________________________	
  to	
  ____________________________________________________.	
  	
  Finally,	
  they	
  

both	
  have	
  ___________________________________________________	
  to	
  _____________________________________________________.	
  	
  

As	
  you	
  can	
  see,	
  ___________________________________________	
  and	
  ____________________________________________	
  do	
  have	
  

similar	
  structural	
  adaptations.	
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